Victoria Dock Primary School Home Learning Plan
Year 3
Week Commencing 8" February 2021

As your child is absent from school at the moment, please read the following information and links in
order for your child to continue their education until they can return to school. These resources are
aligned with the teaching taking place in school and wherever possible video links and additional
instructions are given to help support your child. All completed work should be returned to school when
your child returns. It will then be looked at by school staff following a quarantine period.

Year 3 Maths — Online Learning

Lesson 4 https://vimeo.com/497942634
Convert pounds and pence

Lesson 5 https://vimeo.com/498286318
Add money

Lesson 6 https://vimeo.com/498297373
Subtract money




Converting pounds to pence — continued

Fluency 1
How many coins on the left make the amount on the
right.

Fluency 4

How much money is in each group? Make sure you convert to pounds
and pence.

10p+50p+50p+2p+1p= 50p+50p+20p+2p+50p+20p+5p=
£14£2450p450p+20p+5p+ 2p= 20p+20p+20p+20p+20p+20p=
£54£2410p+50p+20p+50p+20p= | 50p+50p+2p+50p+10p+2p+£2=

Fluency 2

There are D pin£l.

Use this fact to help you write these amounts in pence
and pounds and pence.

Application 1
Marlon wants to buy a new book which costs £8.99.
He has 923p and thinks he has enough money.

o5

Do you agree with Marlon?
How do you know?

Fluency 3
Fill in the blanks in the table.
258p = £2and 58p = £
p = £land 1ép = £1.16
735p = £ and p = £735
p = £and42p = £

Application 2
Jane wanis fo save some money.

She wonders which oplion she should choose fo save the most money?

Option 1 Option 2
- 50p a week for 8 weeks, £] ¢ week for 4 wesks,

Which one should she pick? Convince me!




Problem Solving 1
How much money could Caleb have?

Find three possibilities.

g £ | have £4.59 |
Asha

E I have 495p I .
-

L

Millie

| have more than Asha but
less than Millie,
Caleb

Problem Solving 2
Ranijit wants to buy 3 of the fish below.

éhave 500p to spendj

What combination of fish can he buy?
Find all possibilities!




Add Money

Fluency 1
Complete the part-whole models.

a)

Fluency 4
Brett has £6 and 55p.

Aisha has £2 and 55p.

How much money do they have altogether?

Fluency 2
Dora buys two birthday cards.

{ o -]

Complete the sentences to show how much money Dora spends.

Application 1
Annie and Alex are having pizza for lunch.

—

Tomato pizza £5 and 40p

Vegetable pizza £7 and 75p O
Potato wedges £1 and 79p
£2 and 83p

Cheese bites

a) Annie orders a tomato pizza and cheese bites.
How much does it cost?
b) Alex has £10

She wants to buy potato wedges and a vegetable pizza.
Does she have enough money?

Explain your answer.

Dora spends ED and |:|p

Fluency 3

Complete the number sentences.

a) £3and 12p + £5and 12p = £ and p
b) £3 and 30p + £5 and 30p = £ and p
¢) £3 and 50p + £5 and 50p = £ and p
d) £4 and 50p + £5 and 50p = £ and p

What do you notice?

Application 2
Mo buys a cap for £6 and 50p.
He also buys a key ring. @

He spends £10 in total.

How much does the key ring cost?

Application 3
Anita has this much money...

Does she have enough fo buy
aeroplane?

A ==

Explain how do you know.




Add Money — continued

Application 2
True or False?

You can make the combined total of one doll and

one teddy using only 3 coins.
£2.50 £1.60
£2 and 50p £1 and 60p
Application 3

Add the amounts of money together.
Then use <, > or = fo compare them.

£3 and 43p + £2 and 43p = £3 and 23p + £2 and 13p =

£l and 14p + £l and 8lp = £l and 68p + £l and 30p =

£3 and 30p + £1 and 40p = £0 and 25p + £4 and 45p =

£3 and 33p + £4 and 44p = £3 and 66p + £4 and l4p =

Add these amounts of money together:
£1 and 12p + £1 and 43p =
£3 and 62p + £1 and 28p =

£4 and 29p + £1 and 30p =

Fluency 1
Complete the bar models.
a) b)
£1 and
£2 and 99p| £3 and 40p £3 and 99p
99p
Fluency 2
Use the model to add the two amounts together.
£3and 14p £1 and 82p]
/_\ /_\

£ pl I p

Fluency 3

Problem Solving 1
Jane and Jerry have been saving some money. Together, they have saved £55.

= -
T ——— )
e

Jane has saved £8 more than Jerry. How much have they each saved?

Application 1
Eva has £6 to spend.

What con Eva buy?

Problem Solving 2
Footballs cost £1 and 80p
Tennis balls cost £1 and 40p

OL0)
-

Alfie paid exactly £10 for some balls.
How many of each ball did he buy?




Subtract Money

Fluency 1

Application 1
Complete the bar models.

a) b)

£8 and 99p £9 and 15p

£8 and 96p 62p

Fluency 2
Tommy has £5 and 75p in his pocket.

OOO0ee®

He puts £2 and 50p in his money box.
How much is left in his pocket?

Fluency 3

Whitney has £4 and 80p.
She buys this pair of socks.
How much money does Whitney have left?

Application 2
Amir and Rosie use a number line to subtract £5 and 75p

from £8

Amir's method
-75p -£5
1 L l 1l ]
I T T T 1
£0 £2 f£3 £8 £10
and
25p
Rosie’s method
+25p +f2
1 [ 1 |
1 LI 1 1
£0 £5 £6 £8 £10
and
75p

Amir and Rosie both get £2 and 25p as their answer.

Whose method do you prefer?
Explain why.

Fluency 4
Complete the statements.
a) £8 and 65p - £5 and 25p = £ and p
b) £8 and 65p - £5 and 65p = £ and p
¢) £8 and 65p - £8 and 30p = £ and p

Application 3
Jerry has a £19 note and spends £2 and 50p. He thinks he will
have £8 and 50p left.

Is Jerry correct?
Convince me!

Problem Solving 1

The answer fo this calculation is 175p.

All of the missing dlglts vsed are elther 2 or 5.

P

_and__p-__p-

fland 75p = £

Can this be done in more than one way?




Subtract Money — continued

Fluency 1
Complete the number sentences.

a) £3 and S0p - £1 and 20p = £ and p
b) £3-£1and 50p = £ and p

¢) £6 and 15p - £2 and 85p = £ and p
d) £8 and 7p - £3 and 54p = and

Application 1
Darcey has £8.20 and buys a skipping rope costing
£2.75. She works out how much money she has left...

£8and20p
-£2and78p
£éandS55p

Spot and explain the mistake in her working.

Fluency 2
Anita has £5 to spend at the shop.

She buys a doll. The doll costs £1 and 85p What change should she
receive?

: 8
» By

Fluency 3
A toy car is reduced by £2 and 50p.
How much does the car cost now?

s

£12 and 80p

Paying with this note, how much change will be given?

Application 2
Ranjit has saved £15.

Each day he spends 80p on his favourite comic.

He thinks he is able to buy the comic for 19 days.

Do you agree? Show why!

Application 3
Which numbers are missing in the calculation below?
£é6and8 [:]p
- £3 ond[] ?p
£3andS 3p

Explain your reasoning!

Problem Solving 2

Asha has a £10 note. After her shopping trip she has £4 and 10p left.
How many different combinations of items could she have bought?

£1 and 70p

£5

£2 and 50p

am

90p

£1 and 25p
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Reading

This week we are continuing the story ‘The Boy who Grew Dragons’. We are reading chapter 13, 14, 15 and 16. Read the questions
carefully and write the answer into full sentences with cursive handwriting. Non-fiction Friday is attached below.

| would also like you to read a book for pleasure. Tell me about the book. For example, a book review or a character profile of your
favourite character. Maybe you could send me a video of you reading on dojo or teams.
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BIG NEWS

CLASSROOMS MADE s
FROM PLASTIC m..

PLASTIC rubbish is being put to good
use in Africa - it's being made into
classrooms!

Ivory Coast — a country on the west coast of
Africa — has a lot of plastic rubbish, but only
5% (one twentieth) is recycled.

Now, some of the plastic is being turned into
building blocks in a new factory set up by the
charity Unicef.

The interlocking bricks can be tapped together
with just a hammer. Much-needed classrooms
can be built quickly and cheaply. A person from
Unicef said: “The bricks require no sand, no
cement and a classroom can be built in less than
a month.”

Because the plastic waste now has a value,
women in the community are collecting it up and
selling it to the factory. The money helps to pay
for their children’s education in the newly-built
classrooms!

Six classrooms made from the blocks are already
in use around Ivory Coast. Unicef is working
with a recycling company called Conceptos
Pldsticos on the project and hopes to take the
idea to other African countries soon.




Spelling and Handwriting

Read through the PowerPoint
e Monday — bingo

e Tuesday — picture and story task

e Wednesday — crossword
e Thursday —handwriting
e Friday — spelling test
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superstar | supersonic | superstore | |supermarket| superman | superpower
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Other Subjects

History- Greek beliefs.
RE — Re-enact the key moments of Jesus’ and Guru Nanek’s lives.

Jigsaw — reflection of this topic and banana car challenge.
Science — bones and skeleton.
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